R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4920.dwg, TX-4920

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

DIRECT GLAZED FIBERGLASS DOORS
DOUBLES
w/ or w/out SIDELITES

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required

~ to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

152" MAX. OVERALL FRAME WIDTH

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

74" MAX. FRAME WIDTH “—FRS ,ZMSEA\I/‘V%TH ]

‘ r:—:'
—
5 ¢
i I
uw_ z
= =

— O
0§z || o o L 7
o2 = =
L= O5 o
= 2 << >
<= KO
B 2%
> (@]
o i
N N
w —

‘ ml

].5"___| l_7 ——-H—<—].5-.
X | X
10|
XX

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes
Door & Sidelite panel details

)
=
Go
nz
I g\,
S8 .2
24 =
o=
[@]%] Ly =W
xyn > <O
o< . a
= ia] 3
no p={
50: L L"'U)
b |n
am 0| ad
i < <X
. D
= x|l =0
2 ol &
(@] (0 o
x <
o o
D>
Ll
W
Q
o
&)
O
X
S v
o| [z
o
2| [@
o
]| @
o
o
E
la)
a
=)
]
\L;_l
o=
N |[<C
NGO
mn
—lo
z

Elevations
Horizontal & Vertical Cross Sections

DATE: 4,/29/19

Vertical Cross Sections
Frame anchoring & Hardware details
Bill of materials & components

NN AW N —

SCALE:  N.T.S.

DWG. BY: MT

_____ . ams
L |REINFORCEMENT[ o cov =

XX 74.0" x 82.0" | ENDURA | FJP or PF N/A +40.0 -40.0
149.0" x 82.0"| ENDURA PF N/A +30.0 -40.0

OXXO 149.0" x 82.0"| ENDURA FJP N/A +40.0 -40.0
152.0" x 82.0"| ENDURA | FJP or PF 2X +40.0 -40.0

CHK. BY: LFS

FJP = FINGER JOINT PINE JAMB
PF = POLY FIBER JAMB

DRAWING NO.:
TX—4920

SHEET 1 oF 7

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4920.dwg, 2.3

1/8" TEMPERED GLASS

AIR SPACE
1/8" TEMPERED GLASS

WESRENE. 7~ FO—
04— o INTERIOR
TTTTTT T \ / ((TTPTTTFT]MT] }
IEREARRRR R B IRRNARRER R o
LT T T [Ty =
N 7 < L] |
CAP (PVC) STILE (LVL) =l
/"1 "\ HORIZONTAL CROSS SECTION
\ 2/
35.75" DOOR
WIDTH
24.813"D.LO.
WIDTH 1/2"
GLASS BITE |
INTERIOR — 3/4" OVERALL GLASS THK.
. |
v 38 = | ™, N
~ i L
o T ALUMINUM SPACER
x O { ] EXTERIOR
g —  GLAING
S 1 TAPE GLAZING DETAIL
in —
~ O
SEE HARDWARE
CHART

@PLAST PRO DOOR PANEL
50 PLASTPRO SIDELITE PANEL

FIBERGLASS SKIN: 0.075" MIN. THK.

El
YALE KNOB: YH COLLECTION
DEADBOLT:  YH COLLECTION
KNOB: SIGNATURE SERIES
KWIKSET | DEADBOLT: ~ SIGNATURE SERIES (980)
KNOB: F-SERIES (F51)
SCHLAGE | heADBOLT:  B-SERIES (B40)

TOPRAIL — |
(COMP.)

FIBERGLASS SKIN — |

EXTERIOR

@/

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

FOAMCORE — [ » .

P
m
il
= o
N 5 .
= Q
‘ﬂ_) .
o
(=2
']
E
3 g:
(6]
[o]
[a)
o
S Ho
ST} o=
Za LéJE
on |l &
g0 |[X] 9o
LY B g
A = ]
(%] (] =
SD: ) 0:<(
b [P S
INTERIOR oLm |« O
—_— P e
O (v
3 o
o &
@ <
o o
D>
Ll
L
(@)
o
O
3
X
Sl |»
o |=
o
2 |2
(@]
S @
o
e
=
a
a
5
S
N\
= (e}
N N
— .
n

BOTTOM RAIL —|
(COMP,) :

7“2\ VERTICAL CROSS SECTION

1

NO.| DATE

DATE: 4,/29/19

scAalE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

\2/

DRAWING NO.:
TX—4920

SHEET 2 oF 7

FOAM CORE: XPS FOAM (1.3 PCF MIN. DENSITY)

© 2019 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNOJ aNIgling "m's 6102 @

2S8Ll—d # NOILVYLSIOIY 40 3LVOIJILY3D T SNOISIAIY TR

SH3I3NIONI TVYNOISS3J08d 40 a¥vog Svx3l &) . N
L616'659°CLE FON suoyd SHOLw S41| 3000 2d1/081 810z 0L 31vadn| 0z/9z/s| | N2 S i = _
- . & "A1GW3SSY ¥O Lavd ol=|T 7. 2|8

S6SEST 14 OSMIDA 0£Z Xog oagg Q| = B
"ONI ‘SINVLINSNOD ONIgiNg AN MEREN 3_

¥00a SSY19¥38ld M EIEIERS
£ZLvOL# "3'd SvxaL "ONI 0dd1SY1d HEIIME L
‘3'd ‘IPIWYDS 4 uopuikn :Ag paiodaid sjuswnooqg 110Naoyd g3 W m = =z

R )
; 5
ety

--mw.~..m o w V.Q

A)aaa s\

TeTY

ELEVATION
OXXO

ELEVATION
XX

€€ 'BMp'azZ6y-X L\sBuimelq - D\1dedwi-uoN paze| 12311 £S0L ¥A - IALNAL - 8\LNINVNYId 2U] ‘0idise|d\s1usiD\y



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4920.dwg, 4.3

0.15" C-SINK
(TYP)

SEE NOTE N

/ DRYWALL

=
N

Lnny

= =
3

e

EXT. SHEATHING

!

i
éb%g

/"1 HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

(50

A\

N

A\ \

g¥e

tgx

EXTERIOR

INTERIOR

R

(50

Z EXT. SHEATHING ‘\

m HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

/"7 "\ HORIZONTAL CROSS SECTION

A\

SEENOTE 1 d

@S/%

/~5 \ HORIZONTAL CROSS SECTION

W Outswing shown (Inswing similar)
Back-to-Back Jambs

NOTES:

2. Spacing for item J @ head & sill: 6" from ends (2 total).

EXT. SHEATHING \

EXTERIOR

DRYWALL

5

A\

INTERIOR

m VERTICAL CROSS SECTION

w Outswing shown (Inswing similar)

1. Spacing for item J: 4" from each end and 5 more equally
spaced along sidelite jamb (7 total).

m HORIZONTAL CROSS SECTION

W

WOu’rswing shown (Inswing similar) . 7@
INTERIOR @ /G>
EXTERIDR SEE NOTE | ('j @6 %

N

Outswing shown (Inswing similar)
Shown w/ 2X Reinforcement

)

EXT. SHEATHING \

~ NN

o¢

=

-

N

DRYWALL

SEENOTE 2 @/

EXTERIOR

B

A\

INTERIOR

/“ 4"\ VERTICAL CROSS SECTION

W Outswing shown (Inswing similar)

w
o
S ¥ 0
",
Yo i1
ES o o
-
0 i (Sl o
o Z z
Lv_m _u_,_'g w
wn =0
6% £ o T
< z 9., Z
b o0 §
cr T =
ey 250 @
Aa>w 0
= L
§3® o
B . X
E owd &
o géz W
p Smgp O
g 8 .¢ q
o 50¢ %
& nonr g
J§ o
.B
c 0
P s
E ]
3 [=
0
o

CERTIFICATE OF REGISTRATION # F—11852

3
Qm
@ ~
) x=
(&) ®)
=9 S
o (n o) ‘JU)
i
%) = EQ
[©) ul =0
S |n §©
Fu |9 Qx
L, @ g =0
5 g S
3 o T
S E
& P
01>
~J

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

1

NOJ| DATE

REVISIONS

DATE: 4/29/19

ScALE:  N.T.S.

DWG. BY: MT

LFS

CHK. BY:

DRAWING NO.:
TX—4920

SHEET 4 oF 7

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4920.dwg, 5

\\

INTERIOR

EXTERIOR

WOOD/CONCRETE
SUBSTRATE (TYP.)

INTERIOR

//

EXTERIOR

5

/"1 "\ VERTICAL CROSS SECTION

W Inswing sill

NOTE:

1. Spacing foritem J & L @ head &ssill: 6" from each

end (2 total).

\\

INTERIOR EXTERIOR

SEENOITE 1

ALY

7“3\ VERTICAL CROSS SECTION

w Inswing sill

/2" VERTICAL CROSS SECTION

W Outswing sill

,\_-\‘\.'\.\\‘\3-\]_'} ,

“e':' ‘.:".,.. veas
~

111\\'\x\\"

. 2¢. 20

\\
INTERIOR EXTERIOR
SEENOTE 1 g
LS
P ) wooD
D ) CONCRETE

7“4\ VERTICAL CROSS SECTION

w Inswing sill

L

a

I

45

23

Eg &

.C=u: n

B = M

U)LL! )

.o .

I 55

()] L -

cg o

O X o

T oo

€~ )

2 o ©
>m
owm
M
~
x
[}
o
(@]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

e 0
&) )
=0 O(/)
£ e
o=
Qun |Ix 2
2 |3 %
=3 |8 S
0no |ol En
aE |9 5
Omp |« S
(&)
= o
S e
i <
o o
>_
Yl
Ly
Q
o
O
O
x
S |
ol [z
o
2 [
o
]| @
@
o
L
<
o
a
=
8
N[
) =
N <t
N[
wn
—lo
=

DATE: 4/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4920

SHEET 5 oF 7

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TD\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4920.dwg, 6

== o k.iat 85, By
¢ g g ASEEES gx 3 U8
5 o B Ny 19 vogR gl
1" 3" (TYP. 2" (TYP. n:_ = 7 H ':U):: . £ N Gu
£ (TYP) 4" (TYP) L (TP . =g TTT BO Y izi 85 2894 3z
J— ; ——-I # D% 1ot c- <25 09
: | %% iei 3 dg¢ 8k
I T 1 l FIjfr I 1 | L[l | ] FL S sz 2on Lh
1t B B N To | TH Wi & 88 g
SEE B SEE T o 3 23% u.
= O s et A [}
DETAIL 1 o DETAIL 1 Eog 31 . § %o’é E;
- - = e - = [= R = oo g2
in mQ
HEA[?Tf(‘PJ';‘MBS HEAD & JAMBS = g £ § T
' (TYP.) E 6o
— = T 1 - = — 1 o
MULLION (12) #8x 1" PH 8
1 H3| | seLr-DRILUNG
L o e _ BACK-TO-BACK v 0 SHIS
JAMBS  1¥p)
’ .o in n
Q . = o ==
T emmp (Dwon 7| ST ~ (Pwooo T e - T =E T 2T | 2
SILL (TYP.) ~3 SILL (TYP.) PRALZ L Sk 2 (3 2%
/ r} n 22 |3 L3
Nl L | | LT[ 1 LW LT | ] “ ; =8 |9 3%
] \_2 N
; i % f
= = )
(TYp.) Sl S e
=N @ <
o Q.
XX OXXO HINGE JAMB ASTRAGAL s
- .}

NOTE: FRAME CORNERS ATTACHED w/
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.)

M/

FRAME ANCHORING

DETAIL 1

Astragal Strike Plate @ Head

ETE
ASTRAGAL STRIKE PLATE CONCR
(1.19"x 3.25") P ) WOOD
’/ o, = \‘ \\\\\‘ :‘
T oY
DETAIL 2

Astragal Strike Plate @ Sill

Inswing Threshold

s
N

e O

__©
20

DETAIL 2 3/8" @ BOLT HOLE

Astragal Bolt Hole @ Sill
Outswing Threshold

HINGE DETAIL
INSWING

HARDWARE DETAILS

./o\.b//@
=

°
ol

L/

IT

O
=®

A\
\!

HINGE DETAIL

OUTSWING

ENDURA ULTIMATE HURRICANE

43.75" FROM TOP
OF ASTRAGAL

—— 55"

LATCH & DEADBOLT DETAILS
Astragal

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

1

NO., DATE

REVISIONS

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4920

SHEET 6 ofF 7/

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4920.dwg, 7

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 2X FRAMING (G >=0.42) WOOD

C 1/4" MAX. SHIM SPACE -

D 1/4" @ PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL

G 3/16" @ PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

J #10 X 2" PFH WOOD SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

P #10 PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL

1 POLY FIBER JAMB COMP

2 FINGER JOINT PINE JAMB WOOD

6 DOOR SWEEP PVC

7 WEATHERSTRIP FOAM

9 #9 X 3/4"' PFH WOOD SCREW STEEL

11 4" X 4" HINGE STEEL

12 LATCH STRIKE PLATE STEEL

13 DEADBOLT STRIKE PLATE STEEL

16 #8 X 2-1/2" PFH WOOD SCREW STEEL
20 INSWING THRESHOLD ALUM/COMP
21 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
22 OUTSWING THRESHOLD ALUM/COMP
23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
33 ASTRAGAL (ENDURA) ALUM
40 DOOR PANEL -
50 SIDELITE PANEL =

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

TTW BUILDEX 138

TAPCON® [ 1/ 1-3/4"
0 " " n "
ULTERLAC\:CON® 1/4 1-3/4 1 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

ui
o
* 4.56" oot ¥ 0
: =8 0 5o
1 ; : £ 3 uo
. . } Gy S8 oY
o R : = ct =5 B
— ':I- ) { : e gh5 3>
| — R : §5 233 3%
. 2.44" . S : > S3e nk
Nyni &R° oY
POLY FIBER JAMB T & O%V; £f
Plastpro PF Jamb 0 20% u.
5 g§%2 %¢
Q =0 ©
£ Bok %
o § og
[~ 1.75" | 2k
| 456" - =
in i 5/16" @ SLIDE BOLT
o Zﬁ (9" LONG w/ 1-1/4"
. THROW @ EACH END) & n
| | 2 SIS} 2
1 . 244" ! S BOLT RETAINER =0 E5
i = (5-3/4" LONG) §‘§ 5 '§‘§
@F!NGER JOINT PINE JAMB 23} ENDURA ASTRAGAL 53 3 =3
ULTIMATE HURRICANE 35 || €O
ado |9 _,
P VRl (N e
=R
e &
o <
[s o
— - SIDELITE ol
ADAPTER S|

’f 14"

20 INSWING THRESHOLD
Endura (Z-Series)

29 OUTSWING THRESHOLD

Endura (Z-Series)

2!!

4.56" !

21 INSWING THRESHOLD w/ SIDELITE ADAPTER
Endura (Z-Series)

SIDELITE

ADAPTER

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

1

NO.,| DATE

REVISIONS

L ].5" —

OATE: 4/29/19

! 4.56"

SCALE:  N.T.S.

DWG. BY: MT

23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER

CHK. BY: LFS

Endura (Z-Series)

DRAWING NO.:
TX—4920

SHEET 7 oF 7

© 2019 R.W. BUILDING CONSULTANTS INC.



